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Quiz - Module D

1. According to a recent ILO study what is on average the cost in percentage of GDP of a basic social protection package?
 2.9 % 
 5.9%
 10.4%

2. Is affordability only a question of fiscal space?
 Yes
 No

3. How can a government increase fiscal space?
 By reallocating public expenditures
 By tackling corruption
 By improving efficiency of tax collection methods
 By introducing new taxes
 By expanding social insurance (contributory schemes)
 By borrowing or restructuring existing debt
 By allowing for higher budget deficit paths and higher levels of inflation 
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